9.49

cally,

- The square flat plate shown in Fig. PO.HEs s cut into.
four equal-sized prices and arranged as shown in Fig, PO.HSb,
etermine the ratio of the drag on the original plate {caszf: Tay]
to the drag on the plates in the configuration shown in {B).
Assume laminar boundary flow, Exp%am your answer physic

Thus,
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T}wﬁ |
/R U?%VM&? = Mﬁﬁ@v%if”‘ﬁ | w

For case (b
= E U Cop A where Gy =

and A= (44 = 1*

aﬁ = $ov* ;:@z@if”ﬁ = é].{&é;éﬂg}w%@“f@ @

By comparing gg@} (1) and (2) we see thal
Py = e 95%;.

Ip case (b) the bondary laper on The rear plafe is thicker than on
bhe front plate, Hence the shear stress is lees on Yhe reap plote than
it s on That plate in &aﬁf{gﬁf‘e@fﬁ@ (a), qiving Jess drag for case (B)
than for case (a), even thomh the tofal areas are the same.
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